000700 0091

1123

120* onopa

980*

23*
158

15*

20

7*

1138
1100*

[ 17T T 1|

11

o
5
3 O70
o o
0 JOHHbIN
c
3 KranaH
C
c
O
>
(=
%
]
< o

o
ol -
Z
o
I
=
s
3
m
©
]
: K1600 00.000 Cb
S n
3]
E nu. Macca | Macwra6
Ig Wam|Jnct | Ne gokym. Mogn. |Hdata

Paapab. Kynenb K1600 1:15
. Mpos..
=
o T. KOHTp. NMuct NMucTos 1
cC
%
5 H. KOHTp.
§ YTB.
Konuposan ®opmat A3




100°00 009X

A-A

110

1380

R20

R20

R558

O

L Te)

3| —

a - =

= A m

(o]
0 [

g < |2

8l w |F

s| o© ||

(Q\]
~— | .

s =
O_H =
) Q

o

() ©

© ~

- ©

Y =

T

(qv]

m
1

©

T

©

[

C

(=

[e)

-

s

2

(o]

=

[=]]

4
[ : p
glg| B |k
=18388 2|4
S|loal|™ =
mD._H_I I >

|
,‘ | — == \ |
| 7 - . A
| |
| | | | I
| | \ I | I
\ \ \ ! I [
\ \ \\ I I
A\ 4 /
; A\ O 4 ! /
\ \ / N \ \ J
/)
\ \ \ < / ) )
\ \ N /) 7, /
\ N A\ J 4 /)
\ \ N % 7, /)
\ \ AN 7 7, /
\ AN 7 7 ),
\ A X P 4 /, ),
0 Q \ N y ya,
N A\ AN P 7 /
~ N\ N S —r— =0 % Y
N\ > _= % 0
5 // X =M+ —= 6 z 7
N N 2 7
N N | | 7
Q N | \ == 7
N S L | = Z
S == = — o
N == == 7
N Z
- =
nowsdu
~

© 1600

00l

elen v 9ouumof |

"UOAT 5N "gH||

5N @Hi ‘Weeg

eler’ 1 9omuol

"UToU oN "€H)]

dopmat A3

Konuposan









	К1600 00.000
	Лист1
	Чертежный вид10
	Чертежный вид11
	Чертежный вид12
	Чертежный вид13


	К1600 00.001_Ванна_1616065610
	Лист1
	Чертежный вид4
	Чертежный вид7
	Чертежный вид8
	Чертежный вид9
	Чертежный вид10
	Разрез А-А
	Местный вид Б (1 : 5)


	К1600 00.000__3D
	К1600 00.001_Ванна__3D

